
� SA90 Issue 3 DPL  14/05/19

Sealey Group, Kempson Way, Suffolk Business Park, Bury St Edmunds, Suffolk. IP32 7AR
01284 757500 01284 703534 sales@sealey.co.uk www.sealey.co.uk

Page 1 of 1

NOTE: It is our policy to continually improve products and as such we reserve the right to alter data, specifications and component parts without prior notice. 
There may be alternative versions of this product, please contact us should you require this information.
IMPORTANT: No liability is accepted for incorrect use of product. Spare parts must be fitted by a competent person 
WARRANTY: Guarantee is 12 months from purchase date, proof of which will be required for any claim. 

Parts Information:
Retractable Air Hose Reel 12m Ø8mm ID 
TPU Hose
Model No: SA90

Item Part No. Description

1 370/018 Screw,  M6 x 10

2 370/019 Screw, M6x20

3 370/031 Seal, diam. 12 pu

4 370/032 Washer, Diam. 12-24

5 370/033 Joint, Swivel, Diam. 12

6 370/034 Screw, 3/4" Diam. 17

7 370/035A Connection, Pipe, Female, 3/8"

8 SN6.S Steel Nut M6 Zinc din934 (Single)

9 370/065A Swivel, Fem. 3/8" x 12 pu

10 370/085 Spring

11 370/087 Cover, Drum

12 370/088 Hook, Ratchet

13 370/089 Shaft, Diam. 32

14 370/091 Circlip, 32 

15 370/096 Roller, Guide Hose

16 370/097 Shaft, Spring Linkage

17 370/098 Circlip, 8 e

Item Part No. Description

18 370/099 Spring For Hook

19 370/100 Screw,  M5 x 70

20 SN5.S Steel Nut M5 Zinc din934 (single)

22 370/105 Spacer For Roller

24 SA90.V2-0127 Hose stopper d.12

25 370/129 Screw, M6x16

26 370/130 Screw, M5 x 12

27 370/146 Body, Left Side

28 370/147 Body, Right Side

29 370/148 Housing, Spring

30 370/149 Drum, Winder

31 370/150 Flexible Hose, l = 12m, diam. 8-12

32 370/151 Support, Roller

33 370/152 Support, Half

34 370/153 Stand, Revolving

35 SN6.S Steel Nut M6 Zinc din934 (Single)

36 370/166 Washer, Wave Spring


